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V=105km/h; V130=110km/h; V150=115km/h; D=60mm;
n=11,134V; n130=10,627V; n150=
n=11,134V; n130=10,627V; n150=

R=994m

=71mm; 130=84mm;
10,165V; Lk=70,141m; A=264,046m;

1150=97mm; alfas=19,1 296g; Li,0=228,542m
m=0,206m; T=185,576m; klotoida
10,165V; Lk=70,141m; A=264,046m; m=0,206m; T=185,576m; klotoida
R=990m
V=105km/h; V130=1 10km/h; V150=1 15km/h,

; D=60mm;
n=11,111V; n130=10,606V; n150=

n=11,111V; n130=10,606V: n150=

I=72mm; 1130=85mm;

10,145V; Lk=70m; A=263,249m;
10,145V; Lk=70m; A=263,249m;

1150=98mm; alfas=19,13g; Li,0=227,482m
m=0,206m; T=184,9m; klotoida

m=0,206m; T=184,9m; klotoida
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